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Q26. Somnolent

(a) irritate

(b) provoke

(c) drowsy

(d) enrage

Q27. Invidious

(a) mournful

(b) slowly

(c) indifferent

(d) hateful

Q28. Haughty

(@) inborn

(b) fearful

(c) skillful

(d) arrogant

Directions (29-31): In the following
guestions, choose the word opposite .in
meaning to the given word.

Q29. Bountiful

(a) generous

(b) meager

(c) copious

(d) teeming

Q30. Nuisance

(a) disperse

(b) confront

(c) bold

(d) pleasure

Q31. Renaissance

(a) decadence

(b) pestilence

(c) prehistory

(d) immorality

Q32. In the following question, four
words are given, out of which only one
word is incorrectly spelt. Find the
incorrectly spelt word.

(a) ignominious

(b) illumination

(c) inquitous

(d) immediately

Q33. In the following question, four
words are given, out of which only one
word is incorrectly spelt. Find the
incorrectly spelt word.

(a) reverance

(b) squabble

lnwnv/crn/cnx/ubn/nlv/vvnrAm .............................

(c) desiccation

(d) reiteration

Directions (34-35): Out of the four
alternatives choose the one which can be
substituted for the given words/phrase in
the following questions:-

Q34. Cow — like

(@) aquiline

(b) bovine

(c) feline

(d) vulpine

Q35. Specialist of kidney

(a) nephrologist

(b) paediatrist

(c) orthopaedist

(d) oncologist

Q36.The small child does whatever his
father was done.

(@) has done

(b)did

(c) does

(dyhad done

. Q37.¥0u need not come unless you want
“to.

(@) You don't need to.eome unless you
want to

(b)Y.eu'come only when you want to

(€) You,come unless'you don't want to

(d) You needn't come until you don't want
to

Q38. There are not many men who are

so famous that they are frequently

referred to by their short names only

(a) initials

(b) signatures

(c) pictures

(d) middle names

Q39.The man to who I sold my house

was a cheat.

(a) to whom 1 sell

(b)to who I sell

(c) who was sold to

(d)to whom I sold

Q40.They were all shocked at his failure

in the competition.

(a) were shocked at all

(b) had all shocked at
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(c) had all shocked by

(d) No correction required

Q41. Mt. Abu is about five thousand feet
........ the sea-level.

(a) above

(b) along

(c) after

(d) behind

Q42. | got your parcel ........ Tuesday.

(a) since

(b) for

(c) to

(d) on

Q43.The case was put ........ the judge
and the judge decided it within an year.
(a) at

(b) from

(c) before

(d) of

Q44.1 am much ashamed .........% my
son.

(a) by

(b) of

(c) at

(d) on

Q45.He s proud " ... his
riches.

(a) by

(b) of

(c) on

(d) over

Q46. (a) We disposed off /(b) our old
furniture /(c) before moving to Mumbai.
/(d) No error.

a) We disposed off

b) our old furniture

c) before moving to Mumbai.

d) No error

Q47. (a) We will have to await for /(b)
the result /(c) as the management is on
strike. /(d) No error.

a) We will have to await for

b) the result

c) as the management is on strike

d) No error

llwnv/crn/cnt/unn/ulv/vvnrAM .............................

Q48.Some persons (a)/get promotions
(b)/even if they are not (c)/worthy for
them. (d)

a) Some persons

b) get promotions

c) even if they are not

d) worthy for them

Q49. (a) Our teacher /(b) emphasised on
/(c) the use of correct grammar. /(d) No
error.

a) Our teacher

b) emphasised on

c) the use of correct grammar

d) No error

Q50. (a) There appears /(b) to be very
little /(c) understanding among the two
brothers /(d) No error.

a) There appears

b) to. be very little

C) understanding among the two brothers
d) No error




Conr - |A¢/i-xc/-AN xxxxxxxxx

Computer Knowledge Que. No. 51 to 75

Q51.Which company had developed the
software development process
framework called “Rational Unified
Process” or RUP?

(@) Microsoft (b) IBM

(c) Compaq (d) None of these
Q52.The slogan “Write once, run
anywhere” is related to which of the
following programming languages?

(a) COBOL (b) Java

(c) HTML (d) XML
Q53.The term 128-bit era refers to
which of the following?

(a) Sixth generation Computers

(b) Laptops

(c) Super computers

(d) Video game Consoles

Q54.First microprocessors were used in
which of the following?

(a) Computers (b)*Calculators
(c) Telephones (d) Printers ’
Q55.What do we call a storage device
where the access time IS effectively
independent of the location'of the data?
(a) Direct-/Access Storage Device

(b) Secondary Storage Device

(c) Primary Storage Device

(d) Gateway Device

Q56.When were the first digital
electronic calculating machines
developed?

(a) During Industrial Revolution

(b) During World War |

(c) During World War Il

(d) During Cold War

Q57.Who gave the first successful
demonstration of use of a simplified
analytical engine in computing tables in
18887

(a) Charles Babbage

(b) Henry Babbage

(c) Vannevar Bush

(d) H.W. Nieman
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Q58.How are the four main components
of a computer interconnected

internally?
(a) Cars (b)Buses
(c) Lines (d) Rods

Q59.With which scientist is the
discovery of first practical mechanical
calculator associated?

(a) Gottfried Leibniz (b) Blaise Pascal

(c) George Boole (d) Charles Babbage
Q60.Who had conceived the idea of the
first ever Graphical User Interface?
(a)Steve Jobs

(b)Douglas Engelbart

(c)Alan Kay

(d)Bill Gates

Q61.An analog computer uses an analog
signal which is usually represented as
what?

(a) Sine Wave (b) Sine Curve

(c) Bell curve (d) Cos Wave
Q62.Which of the fellowing comprise

vital electronic components'of an‘analog *

clock?

(@) Multipliers

(b) Potentiometers

(c) Operational amplifiers

(d) All of the above

Q63.What can possibly be contained-ay
an Integrated Circuit chip?

(a) CPU

(b) Memory

(c) Peripheral Devices

(d) All of the above

Q64.What is the full form of UPS?
(a)Unplugged Power Supply
(b)Uninterruptible Power System
(c)Unknown Power Source
(d)Uninterrupted Power Source
Q65.Which type of failure occurs
because of input device that does not
read data correctly ?

(a) input error (b) output error
(c) read error (d) write error

AIIWAY/C"n/CDK/MDA/M."/VYAFAM .............................
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Q66.Which of the following is the use of
nano control memory ?

(a)Improve the speed of execution
(b)Reduce the overall control memory size
(c)Reduce the complexity of hardware
(d)None of the Above

Q67.Which of the following is
responsible for the fixed disk error?
(a)Slow RAM

(b)Slow Processor

(c)Incorrect CMOS settings

(d)None of the Above

Q68.What is the full form of SSD?
(a)Solid State Drive

(b)Software State Drive

(c)Solid Software Drive

(d)Solid State Driver

Q69.1t is a type of printer which can
print multiple carbon copies at once.
What is the name of this type of printer?
(a)lmpact Printer

(b)Laser Printer

(c)Inkjet Printer

(d)None of the Above

Q70.Which of the following is the
dominant Operating System‘in‘the
world?

(a)MacOS

(b)Microsoft

(c)Linux

(d)None of the Above

Q71.There is a system software which
performs the task of resolution of
externally defined symbols. What is the
name of such a system software?
(a)Loader

(b)Linker

(c)Compiler

(d)Assembler

Q72.What is the name given to the
Automatic Speech Recognition on Apple
Iphone?

(a)Julie

(b)Siri

(c)Kewta

(d)Barbie
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Q73.Which of the following are the
features of a Spreadsheet?

(a)Layers and Lines

(b)Rows and Columns

(c)Layers and Planes

(d)Height and Width

Q74.Which of the following issues are
related to the Software aging?
(a)Quiality of Software decreases
(b)Entropy of Software increases
(c)Bothaand b

(d)None of the Above

Q75.Who among the following proposed
the R-tree for the first time?
(a)Antonin Guttman

(b)VVan Neumann

(c)Steve Jobs

(d)Michael Raschell
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General Science Que. No. 76 to 100

Q76.Which among the following blood
protein regulates the amount of water in

plasma?
(a) Globulin (b) Albumin
(c) Fibrin (d) Fibulin

Q77.1n which among the following
organ, “Bowman’s Capsule” is found?
(a) Liver (b) Kidney

(c) Heart (d) Small intestine
Q78.The edible part of Ginger is
actually a ?

(a) modified root (b) modified stem

(c) modified leaf (d) none of the above
Q79.How many arteries are present in
Human Umbilical Cord?

@1 (b)2 ()3 (d)4

Q80.Which among the following
correctly refers to Ischemia?

(a) Restriction in blood supply due.te
factors in the blood vessels

(b) Abrupt fall in the'blood Pressure

(c) Necrosis in a blood vessel due ta a local*

lack of oxygen

(d) Condition of severely deficientsupply
of oxygen to the body

Q81.Which of the following elements
have the lowest and highest boiling point
in the Periodic table?

(a) Helium and Tungsten

(b) Hydrogen and Rhenium

(c) Helium and Rhenium

(d) Hydrogen and Tungsten

Q82.The radiations used in
Radiotherapy for the treatment of
Cancer destroys the Cancer tumour
mainly by which among the following?
(a) Destroying the Cytoplasm of the
Cancerous Cells

(b) Destroying the Cell membranes of the
Cancerous Cells

(c) Destroying the DNA of the Cancerous
Cells

(d) Destroying the spindle fibres which are
used in Cell Division
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Q83.Which of these is not a Linear
polymer?

(a)Starch

(b)Polyethelene

(c)Nylons

(d)Polyesters

Q84.Which element has the narrowest
liquid range?

(@)Helium

(b)Fluorine

(c)Argon

(d)Neon

Q85.What is dry ice?

(a)Liquid nitrogen

(b)Water ice

(c)Solid carbon dioxide

(d)Frozen ethanol

Q86.Xylem helps in transportation of
which of the following?

(a) Food

(b) Water

(c) Both food and water

(d) Nutrients

Q87.What are the main components of
Bronze alloy?

(@) Aluminium and Nickel

(b) Copper and Tin

(c) Zinc and Nickel

(d) Copper and Zinc

Q88.Who discovered electron?

(a) J. chadwick

(b) Ernest Rutherford

(c) J.J.Thomson

(d) E.Goldstein

Q89.Which branch of biology is known
for the study of plant fossils?

(a) Paleobotany

(b) Morphology

(c) Lichenology

(d) Agronomy

Q90.Which of the following is the fastest
enzyme?

(a) Pepsin

(b) Carbonic anhydrase

(c) DNA polymerase

(d) DNA gyrase
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() ufte

(s =it TRTEgSt

(<) Srer arefas
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Q91.What does it mean for pea grains to
be coiled around any support?

(@) Seismonasty  (b) Thigmotaxis

(c) Gravitropism  (d) Thigmotrophism
Q92.How many moles are present in 36
gm of water?

(@)1 (b) 2 (c) 4 (d)8
Q93.1ron and manganese present as
pollutants in water cannot be removed
by:

(a) oxidation followed by settling and
filtration

(b) chlorination

(c) ion exchange process

(d) lime soda process or manganese zeolite
process

Q94.1n an acid base reaction which
product is produced along with a salt?
(a) Hydrogen gas (b) Oxygen gas
(c) Carbon dioxide (d) Water
Q95.Which of the following chemicals'is
used in photography?

(@) Aluminium hydroxide

(b) Silver bromide

(c) Potassium nitrate

(d) Sodium chloride

Q96.Browning of paper. in old books Is
caused by:

(a) frequent use

(b) lack of aeration

(c) collection of dust

(d) oxidation of cellulose

Q97.An electrochemical cell whieh'is
used as a source of directelectrical
current at constant voltage under
standard conditions is called a:

(a) Power transmitter (b) Battery

(¢) Uninterrupted power supply (UPS)
(d) Generator

Q98.Which of the following is not
soluble in water?

(a) Lead Sulphate (b) Zinc sulphate
(c) Potassium sulphate (d) Sodium sulphate
Q99.The Refrigerant ‘FREON’ is:

(a) Calcium Tetra Fluoride

(b) Difluoro Dichloro Methane

(c) Fluorspar and Felspar

(d) Hydrofluosilicic Acid
Q100.Benzene cannot undergo:

(a) Substitution  (b) Addition

(c) Elimination  (d) Oxidation
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Q1. AeX & T i e TER & TR 3R
U hT FIT Y 22

(v) foremedt (sft) fermeforea
(&) TEcaTERST () Rrmgifesn
Q92.36 I U=t ¥ feha=r HieT B 87

@1 G2 (@4 ()8
Q93.urt # ygWeh & FI H UINT AT AHR
IS ol fehtreh ST 2T &1 9T |ehal 2.
() SATrTeRtoT o oG Jefer TR fedes

(=) TR (©) STRA TS Siskar
() wrzw ey Atk a1 S SreTieTse gtk
Q94. arreA-aTr rfurfehaT o waur o T
HF-TT IATE TAT 872

(¢) TrESISH T (cfT) Sfierefisr T
(%) e S SRS () g

Q5. Fforiae o | fohE WTET &1 SUFNT
wiermT § fehar S 27

(¥) Eifi e EEgiaTEe (<) fiear simee
(=) greferrT Ar3ee SRR ESINES

Q6. qurt feReat # ST i o BT feereh
SHTUT BT &

(T) AR STAL (&) ST ht heft

(St) et Gie (<) Hegeiist she SRR
Q97. T FoiF IehiiheT Hel [ T
aRfefaat 7 fer Siees W e R

TATE % WA % § TGN R ST 8, 39
THET SATaT 2

() uTer ghaHiex (&) St

(&) Fater forsredt srqfd (fiee) (1) St

Q98 ﬁn%‘f@?rﬁﬁaﬁ-—ruﬁﬁaﬂ'—mﬁﬂ
& 27

() <fte ache

(<) drefimm et

Q99 Ifheiie "thraAT" B
() Hfceem 2T FANES
() fewaTit STgaraA iy Hiem
(€fT) FAREIR TR HeAed R
(€) ESRSIEINERUEE
Q100,55 & T Tehar 3

(v) wfcreem= (=) sfafem
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Quantitative aptitude Q101 to 125

Q101.What must be added to each term of
the ratio 2 : 5 so that it may equal to 5 : 67
(@65 (b) 78 (c)13 (d) 12
Q102. In a cricket match there are three
types of tickets say A, B and C each
costing Rs 1000,Rs 500 and Rs 200
respectively. The ratio of the ticket sold of
category A, Band Cis 3: 2 : 5. If the total
collection from selling the tickets is Rs 2.5
crore. Find the total number of tickets sold.
(a) 50000 (b) 40000

(c) 45000 (d) 60000

QI03. IfA:B=7:9and B:C=3:5
then A: B : Cisequal to

@7:9:5 (b) 21: 35: 45
(c)7:9:15 (d)7:3:15

Q104. The ratio of the length of a school
ground to its width is 5 : 2. If the width IS
40 m, then the length is

(@) 200 m

(b) 100 m

(c) 50 m

(d)80'm

Q105. The ratio of boys and girls'in a
college is5: 3. If 50 boys leave the college
and 50 girls join the college, the ratio
becomes 9 : 7. The number of boys in the
college is :

(a) 300

(b) 400

(c) 500

(d) 600

Q106. In a school, the ratio of boys to girls
is 4 : 3 and the ratio of girls to teachers is 8
- 1. The ratio of students to teachers is
(@)56:3

(b)55:1

(c)49:3

(d)56:1

Q107. If x : y = 3 : 4, then the value of
(4x—y): (2x+3y)is

@4:9

(b)8:9

(c)4:3

(d)8:3

Q101. 2 : 5 % U % Tcdsh US W FT S
ST =1fET a1feh I 5 : 6 % sHIeR & Se?
(@65 ()78 ()13 () 12
Q102. w fr¥e B & dF &R ¥ Rwe A, B
3k C 2, g it hma seaer: 5 1000, 5 500
3t 5 200 ?1 9oft A, B 3t C % s 7w et
1 3fgurd 3 1 2 1 5 71 Fle feeneh i forsht & e
¥ WUE & 2.5 Fg B & M R A FA
HEAT 14 i)

(v) 50000 (sf1) 40000

(=) 45000 (£) 60000
Ql03acA:B=7:9skB:C=3:
5,77 A:B:Cwer?

(@7:9:5 (si) 21: 35: 45

(&) 7: 9: 15 (€) 7. 3:15

Q104w e & Her ot <ias h1 I ST
¥ Igai 5 : 2 2 A =rers 40 Hiex 2, 1 e

(@) 200 dex  (sh)200 Fex
(@) 50 iz (1) 80 Hiex

Q105 wF =iche I el IR wSfFA @
3Fara 5:3 Ridfe 50 gk e 1S ad & IR
50 Treforar wicist o M 81 St &, T ST
Q:7 = AT 21 iciST | ISehi hl HEAT &

(v) 300 (sft) 400

(%) 500 () 600

Q106 w* Tt § wigehi 1 Teihal ¥ U
4:3 % 3R el # frarrt & s 8:1 R

BN 1 fReTshi & S1uTd ©
(v) 56: 3 (sf) 55: 1
() 49: 3 () 56:1

Ql07=afex:y=3:4,a (4x—y): (2x
+3y) H AR
(@ 4:9
(&) 4: 3

(1) 8: 9
() 8:3




Q108. There is a ratio of 5 : 4 between two
numbers. If 40 per cent of the first is 12,
then 50% of the second number is :

(@) 18 (b) 24

(c) 12 (d) 20

Q109. The ratio of ages of two persons is 5
: 9 and the age of one of them is greater
than the other by 40 years. The sum of
their ages in year is :

(@) 180 (b) 140

(c) 150 (d) 160

Q110. The ratio of the ages of A and B at
present is 3 : 1. Four years earlier the ratio
was 4 : 1. The present age of Ais :

(@) 48 years (b) 40 years

(c) 36 years (d) 32 years
Q111. The average age of boys in the class
Is twice the number of girls in the class.
The ratio of boys and girls in the class of
50 1is 4 : 1. The sum of the ages (in.years)
of the boys in the

class is:
(a) 2000 (b)#2500
(c) 800 (d) 400

Q112. The ratio of ages of two boeys IS 5 :
6. After two years the ratio will"be 7 : 8.
The ratio of their age after 12 years will be
(@) 22:24

(b) 15: 16

(c) 17 :18

(d)11:12

Q113.A Mixture contains paint and water
in the ratio 4:3 if 5 litres of water is-added
to the mixture, the ratio becomes 4:5. Find
the quantity of paint in the given mixture?
(@) 11 litres

(b) 10 litres

(c) 9 litres

(d) 8 litres

Q114. A misture of 20 litres of milk and
water contains 20% of water. The new
mixture is formed by adding 5 litres of
water. What is the percentage of milk in
new mixture ?
(a) 60%

(c) 62%

(b) 65%
(d) 64%

Tt
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Q108 zr we=ti & = 5 4 %1 U 2l A
yeelt wer &1 40 wfawa 12 2, o gudt der =
50% :

(® 18 ()24 ()12 (31) 20
Q109 @t =afera i 311 w1 3 5:9 B 3R
STH § Uk bt g g @ 40 o srfere @) 9
IThT TR T AT 2

(v) 180 (s) 140 (=) 150 (=1) 160
Q110 adwm # A 3R B it 31y %1 s1gurd
3:1 &1 = Ay weet srqura 4:1 oam A & adHe
SR K

(v) 48 v (sh) 40 5=

(&) 36 @re (1) 32 5=

Q111 e 4 e hl SHerd TG Haf |
TSieRa <1 @ ¥ 2T &1 50 A et H gkl
I QST o Sqata 47 1 31 err 5 ASHi oAl
1Y (@ ) &7 A

(v) 2000 () 2500 (%) 800 (=) 400
Q112 aveTest i 31y i 31516 21 a1 I
siie H{Id /-8 &1 S| 12 & ae 3kt 311

1_SAFYT oA
(@) 22: 24 (&) 15: 16
() 17: 18 @) 11: 12

Q1137w firsw Tz st wrft a1 e 4:3
213 figor & 5 ofiet urht faeman St @, @
FqaTa 4:5 = Srar @) fou g firsr 7 g i A
1 IS |

(v) 11 <frex (sf) 10 <fiex

(<) 9 <fiex (¥ 8 =X

Q114 20 =frex 3g 37k it it frerae § 20%
ot grar 21 5 et art firement @ forsror smm
ST 21 T fosror 7 gor 7 wfoRTa foRar 272

(©) 60% (sft) 65% (=) 62% () 64%
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Q115. A and B starts from a house at
10am. They travel for their house on the
MG road at 20kmph and 40kmph. There is
a junction T on their path. A turns leftat T
junction at 12:00 noon, B reaches T earlier,
and turns right. Both of them continue to
travel till 2pm. What is the distance
between A and B?

(a) 140km (b)160km

(c)120km (d)150km

Q116. 320 m long train is running at
72kmph. How much time it will take to
cross a platform of 180m long.

(@) 21s

(b) 20s

(c) 25s

(d) 23s

Q117. Population of a city increases every
year by 10%. If the population in january.
2006 was 15.8 lakhs, what will e the
population in 2008?

(a) 1911800 (b) 1945700

(c) 1889000 (d) 1911700

Q118. Simplify 3034 — (1002/20.04)

(a) 2987 (b) 2984

(c) 2980 (d) 2982

Q119. If 492 is added to the square of a
number, the answer so obtained is 9125.
What is the number?

(a) 82

(b) 80

(c) 81

(d) 84

Q120. If 48.4% of 9500 = 10100 — 5% of
10100 — X, then the value of X is ?

(a) 4998

(b) 4997

(c) 4996

(d) 4995

Q121. A and B can do a work in 5 days. A
alone can do the same work in 8 days. In
how many days will B do the same work ?

(a) 13(1/4) days

(b) 13(1/2) days

(c) 13(1/6) days

(d) 13(1/3) days
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Q115. A =it B ge 10 &5 T = § =1
3[E A 8] o THSA IS W 310 = % ferg 20
forrft wfer =ie o 40 foreft wfar =2 <t Toam & I
L &l 3T Ted | Uk s T 2l A et
12:00 st T siaer e o e 2, B weer T
T gl 8, SN I ST 8l A9 2 o1 qoh qHl
T AMT-SET & &t 2l A 3R B s =

ot feeft 27
(@) 140 fft  (b) 160 fimt
(€) 120 fmft  (d) 150 fimt

Q116. 320 e wisft g7 72 fopet wft sie

TR ¥ =T @ 21 180 Hiex &l teiew™ shil IR
T 1 39 foRdaT g9 @

(@) 21s" (b)20s (c) 25s (d) 23s
Q117. w3 it siEeE & drer 10% ¢
it &l Ffe siett 2006 & s 15.8 wra
off, & 2008 @ Srrei forat grft?

\(a) 1911800

(b) 1945700

(€):1889000 (d) 1911700

Q118. = 3034 - (1002/20.04)
(a).2987(h) 2984 (c) 2980 (d) 2982
Q119. =f ferelt T & ot i 49° Se fe
Stme @t 3w 9125 urw grar 21w #@ar 27

(@) 82 (b)80 (c)81 (d) 84
Q120. =fz 9500 =1 48.4% = 10100 —
10100 =1 5% — X, @t X 1 9= 87

(a) 4998 (b) 4997 (c) 4996 (d) 4995
Q121. A it B et v a1 5 foedi & w0
Tohd 81 A 31 3ET 1 @t 8 feAt I o Fepar
31 B 3t & &1 foha fot & spam?

(@) 13(1/4) f&=

(b) 13(1/2) &=

(c) 13(1/6) fa=

(d) 13(1/3) f&=
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Q122. 4 men can check exam papers in 8
days working 5 hours regularly. What is
the total hours when 2 men will check the
double of the papers in 20 days?

(@) 5 hours (b) 8 hours

(c) 6 hours (d) 11 hours
Q123. The probability of obtaining an even

prime number on each dice, when a pair of

dice is rolled?
(@) 1/24 (b) 1/36
()1 (d) 1/12

Q124. In how many ways can 3 postcards
can be posted in 5 postboxes?

(a) 125 (b) 130

(c) 120 (d) None of the above

Q125. A,B and C started a business in
which A invested Rs' 20000 for 2 years, B
invested Rs 30000 for 3 years, C invested
Rs 40000 for 4 years. At the end the profit
received by them is Rs 11,600. What'is B
share.
(a) 2000
(c) 3800

(b) 2400
(d) 3600

_. (=) 120
_ -‘-'Q12"5. A, B 3t C 7 ts a3 foram

Q122. 4 gey frafid w9 @ 5 =i =M =tk 8
Tt ottt o U =% 9 Wehd §| F fha HE

& s 2 7ew 20 fot & it i It =
FA?

(v) 5= (&) 8 =2

(&) 6 = @) 11 =

Q123. ye U9 W T 99 TSI HE&AT ITH
T hl ATRIeRAT, ST ITET ShT Teh SIS Hhehl STTdT
27

(v) 1/24 (st) 1/36

(=) 1 (3) 1/12

Q124. 5 uresiad § 3 UReHIS fohd- TR &
STel ST Hohd 82
(@) 125 (sit) 130

() SHE & & s 7w

g A 3 2 9@ & fqe20000 753 =1 fawr
ferzr, B 3.3t o ferw 30000 w93 =1 fasr
feram, C 3 4 o1t & fow 40000 92 =1 e

Tl @7d 8 372 9t oy 11,600 ¥93 R) <t 3=w
7 2

() 2000
(<) 3800

(s) 2400
(&) 3600
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Reasoning Q126 to 150

Q126. Find out the odd word/ letters/
number/ number pair from the given
alternatives.

(a) 13981 (b) 93172

(c) 47542 (d) 67325

Q127. Find out the odd word/ letters/
number/ number pair from the given
alternatives.

(@) 5712

(b) 6212

(c) 3811

(d) 7831

Q128. A series is given with one term
missing. Choose the correct alternative
from the given ones that will complete the
series.

Jallianwala Bagh  Massacre,
Commission, Dandi March, ?

(@) Quit-India Movement

(b) Advent of British

(c) Advent of French

(d) Champaran Satyagraha
Q129. A serieswis given with .one term
missing. Choose the correct alternative
from the given ones that'will complete the
series.

ZA, XC, TG, NM, ?

(@) KL

(b) FU

(c) LM

(d) TI

Q130. A series is given with one term
missing. Choose the correct alternative
from the given ones that will complete the
series.

CD,?,MN, UV, EF

(@) EF (b) GH

(c) KL (d) ML

Q131. A series is given with one term
missing. Choose the correct alternative
from the given ones that will complete the
series.

72,56, 42, 30, 20, ?

(@) 22 (b) 20

(c) 12 (d) 62

Simon
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Q126. fu w FReww # ¥ Fw
vTea/ TeT/ e/ Im q1q Hif)

(v) 13981 (s) 93172

(&) 47542 () 67325

Q127. fiw wmu fywedt # @ fawm
3153/ &/ T/ I 1 HifSY

(@) 5712 (sf) 6212

(sf) 3811 (&) 7831

Q128. ws 3rgeA feam mar @ oew o w8 qu
gl fou U fospedi & ¥ a7 W&l foekew T S
ST %1 T

T, ?

(T) v SISt sfigic _(SfT) TSI o1 ST
(&) = wr e - () SR wemE
Q129. ts SisHA foar T § NEH T 9e
8l 8T AT fospedt #§ ¥ 9% @&l foshed g S

L 2T Rl T

" ZA, XC, TG, NM ?
(©) KL () FU
COIRY, @) Tl

Q130 T sr7eH feam T & Sre Tk 9e I 2
feu T8 fershedt 8.0 o el fofsheq M ST e

1 I

CD,?,MN, UV, EF

(v) EF

() GH

(&) KL (@) ML

Q131. ws 31pa feam man @ fSed s e qu
gl U 7T fopedt § @ a7 wel foked g S
AT hl I

72,56, 42, 30, 20, ?

(v) 22

(&) 20

(=) 12

() 62
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Q132. In this question, two statements are
given each followed by two conclusions |
and I1. You have to consider the statements
to be true even if they seem to be at
variance from commonly known facts.
You have to decide which of the given
conclusions, if any, follows from the given
statements.

Statements:

(I) Some white is black.

(1) No black is green.

Conclusion:

(I) Some white is green.

(I1) Some white is not green.

(a) Conclusion | follows

(b) Conclusion 11 follows

(c) Either 1 or 2 follows

(d) Both I and Il follows

Q133. If 1st January 2013 was Wednesday,
then what day of the week was it.on*2nd

January 20147
(@) Wednesday _(b) Thursday.
(c) Tuesday (d) Friday

Q134. Arrange the given words "in the

sequence in which they “occur in" the

dictionary.
I.  Victory
Il.  Victorious
I1l.  Vaccine
IV. Vacancy
(@) ii, i, iv, iii (b)di, 1, iii,.iv,
(©) ii, v, iii, i (d) v, dil, ii, i

Q135. In a certain code language,
‘TRUMPET" is written as ‘7591427 and
‘SORROW?’ 1s written as ‘385586°. How is
‘EMPRESS’ written in that code language?
(a) 2145237 (b) 2145233

(c) 2154323 (d) 3154233
Q136.While introducing a boy, Raju says,
"He is the son of my wife's sister." How is
the boy related to Raju?

(@) Son

(b) Nephew

(c) Brother

(d) Cousin
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Q132. 39 gy ®, I FHIT 3N YIS o oG al

freed | 3t || feu g 2 vt oAl & g
AT ® 9ol € o TalTa a2t & f=T et 2 gl
AR 9T HET © for foU U oAt 4 ¥ 9 @1

T, A TS &1, ST L 2
HA

(1) %= w%e Frer 2

D EEEISIEERE

e

(I) Fo awe a0 2.

(1) %= e &0 T 2

(@) fre | e e

(&) Freeed M stemon s &
(&) = <t | = sre st §
@1) | st L ST st i ©
Q133 =fx 1 sHadft 2013 =1 Feraw o, @ 2

_.aqaﬂ2014aﬁm‘omaﬁ=rwﬁ:r or?
(@) Sear (Sft) TRa (W) HerE (1) JERaR

Q134 feu 7T weai FLIEEHIIT A dTA 7
1 sefterd il

L. Victory [1.Victorious
HI:Vaccine IV Vacancy

@yl i, 1v, i &) i, 1, i, v,
(=) 1, iv, dii, i (&) iv, iii, ii, i

Q135 w= fifea & s &, TRUMPET
wr '7591427" sk 'SORROW' =i
'385586" ferar wmar @ SHU wme W H
'EMPRESS' = forg wehr forarn stram?

(v) 2145237 (sh) 2145233
(ef) 2154323 (&) 3154233
Q136. t @ie 1 U= Id §Y, TS| & ¢,
"aE W Tt ShT e T ST 2l AT TS H R
TR Heiferd 27

(@) = () e

GHEIH (1) == g
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Q137. A'is D's brother. D is B's father.
BandC are sisters. How is C related to A?
(@) Aunt

(b) Nephew

(c) Cousin

(d) Niece

Q138. Which number should come next in
the series 1, 2, 3,10,

(@) 79

(b) 99

(c) 89

(d) 98

Q139. Which number is wrong in the
series 2, 6, 15, 31, 56, 93?

(@6 (b) 31

(c) 56 (d) 93

Q140. The number comes next in the series
12, 36, 109, 329, ... -

(a) 900 (b) 990

(c) 890

(d) None of the above

Q141. 1f PINK: is coded as 1691411, then'

RED will be coded as -

(a) 1963 (b) 1854

(c) 1853 (d) 1954

Q142. Which of the following_is the odd
one from the given alternatives?

(@) Driving (b) Diving

(c) Swimming (d) Sailing

Q143. Which of the following is the odd
number from the given alternatives?

(a) 1090 (b) 962

(c) 626 (d) 841

Q144. Statement 1: John runs faster than
George

Statement 2: Tom runs faster than John

Statement 3: George runs faster than Tom
If statement 1 and statement 2 are true,
statement 3 will be -

(a) true

(b) false

(c) uncertain

(d) None of the above
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Q137. A, D =1 wg &1 D, B =1 fuer &1 B
R C s 21 C, A 9 8 Haifed 27

(w) ==t (&) wrefst

(@) () e

Q138 simer 1, 2, 3,10, i st #e-af
e ST aRe?

(@) 79 () 99

() 89 (@) 98

Q139 sjwar 2, 6, 15, 31, 56, 93 § wH-Ht
AT TTed 27

(@6 ()31 ()56 ()93
Q140 siger H 3w i ofrar © 12, 36,
109, 329, ..........
() 900 (sft) 990
(1) S | & F15 A
Q141 =fs PINK = 1691411 & v #

(=) 890

\ifed e s 2, @ RED 1 565w #ifed

forar ST -

(). 1963 1854 () 1853 (&) 1954
Q142. fmfafaa &8 % an fey v foreat &
4 fomm 27

(@) grsfem (&ft) rsfeim (&ft) dwar (&) Arobrer
Q143. fr=fafaa @ @ % @ fey v fommreat &
o fowm dean 272

(@) 1090 (1) 962 (1) 626 (<) 841
Q144. weo= 1: S, Sitst & o alear @

FUF 2; I, ST ¥ I dredr &

FHAT 3: St O 9 W AT dgar @

gfe e 1 3R s 2 gc7 8, a1 oA 3 8 -
(v) &

(&) e

GHERER

() Sl # & #g T




Conr - |A¢/i-xc/-AN xxxxxxxxx

Q145. Statement 1: A is bigger than B but
shorter than C

Statement 2: D is smaller than C and
bigger than A

Statement 3: B is greater than D

If statement 1 and statement 2 are true,
statement 3 will be -

(@) True (b) false

(c) uncertain (d) None of the above
Q146.Arrange the following words in a
meaningful sequence -

1. Frog 2. Grass

3. Grasshopper

4. Eagle

5. Snake

(@2,3,1,5,4 (b)3,2,1,4,5
(©2,1,3,4,5 (d)4,5,1,3,2

Q147.Arrange the following words in a

meaningful sequence -

1. Sun

2. Rain

3. Child

4. Rainbow

5. Happy

(@2,1,4,3,5 (b)3, 2,4, 4,5

(©2,1,3,45 (d) 4,5,1,3,2

Q148. Arrange the following words in a

meaningful sequence-

1. Plant

2. Seed

3. Dough

4. Bread

5. Grain

(@21,5,3,4 (b)3,2,1,4,5

(©2,1,3,4,5 (d)4,5,1,3,2

Q149. Statement: It is suggested to put a

child in school at the age of 4.

Assumptions:

i) Schools do not admit children after the

age of 4.

i) At this age, the child is ready to learn

new things.

(@) Assumption 1 is true.

(b) Assumption 2 is true.

(c) Both assumptions 1 and 2 are true.

(d)Neither assumption 1 true nor
assumption 2 true.
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Q150. Statement: If it is easy to become a Q150 #e: TR Sfaed a1 AW 8, O T3
doctor, I don't want to be a doctor. ”

_ i A& T T
Assumptions: ]
1) A candidate wants to be professional. SAER-
ii) One wants to achieve a thing which is i) T SEfigar USSR ST =R R
hard-earned. i) 18 el < w1fret e <ear @ S deda @
(a) Assumption 1 is true. s T A
(b) Assumption 2 is true.
(c) Both assumptions 1 and 2 are true. () amom 1 &= =)
(d) Neither assumption 1 true nor (sft) amom 2 w=r 2
assumption 2 true. (&) 2 e 1 si 2 w8
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General Knowledge Q151 to 175

Q151.Almatti Dam is on which of the
following rivers?

(a) Krishna (b) Cauvery

(c) Tungabhadra (d) Malprabha
Q152.In which five year plan Rourkela &
Durgapur Steel plants were conceived?
(a) First (b) Second

(c) Third (d) Fourth
Q153.The controversial Babli project is a
barrage being built by Maharashtra
Government across which among the
following rivers?

(a) Bhima River (b) Krishna River
(c) Godavari River (d) Painganga River
Q154.Which country is called “Sugar
Bowl of world”?

(a) Norway (b) Sweden

(c) India (d) Cuba

Q155.1n context with the internatienal
borders, Zero Point refers;to'an area on.the
border of which of the following
neighbors?

(a) China North Korea

(b) Iran Pakistan

(c) Iran lraq

(d) Pakistan Afghanistan

Q156.The East India Company was
deprived of monopoly of trade with.ndia
except Tea Trade by which.among the
following acts?

(a) The Charter Act of 1813

(b) The Charter Act of 1833

(c) The Charter Act of 1853

(d) Government of India Act 1858
Q157.Under which of the following
articles comes the appointment of
Administrator of the Union territory by the
President of India?

(a) Article 239 (b) Article 240
(c) Article 241 (d) Article 242
Q158.73rd Amendment of the Constitution
of India, is related to which among the
following?

(@) Townships (b) Panchayats

(c) Municipalities (d) District Boards
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Q159.Which among the following state
does not have a bicameral legislature?
(a) Maharastra (b) Bihar

(c) West Bengal  (d) Andhra Pradesh
Q160.The famous “Ganga Sagar Mela”, an
annual fair is held in which state of India?
(a) Bihar (b) Uttar Pradesh

(c) Jharkhand (d) West Bengal
Q161.Kishangarh School of Rajasthan is
famous for which of the following ?

(a) Painting

(b) Dances

(c) Sculpture

(d) Architecture

Q162.In which of the following states of
India , a festival called Chapchar Kut is
celebrated in March ?

(a) Assam

(b) Mizoram

(c) Karnataka

(d) Sikkim

Q163.Which among.the following Is the
oldest surviving rock-cut cave in India ?
(a) Bagh Caves (b) Ellora Caves

(c) Uday Giri Caves '(d) Barabar Caves
Q164.Umiam Lake, also known'as
Barapani Lake, is located in which state?
(a) Meghalaya

(b) Assam

(c) Sikkim

(d) Tripura

Q165.The Bori Wildlife Sanctuary (BWS)
Is located in which state?

(a) Chhattisgarh

(b) Madhya Pradesh

(c) Maharashtra

(d) Rajasthan

Q166.Points Calimere Bird sanctuary is
located in which of the following states?
(a) Kerala (b) Karnataka

(c) Tamil nadu  (d) West Bengal
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Q167.Which among the following
international treaty or protocol bans all
mining in Antarctica, designating the
continent as a natural reserve devoted to
peace and science?

(a) Antractica Treaty System

(b) Antarctic Conservation Act

(c) CRAMRA

(d) Antarctic-Environmental Protocol
Q168.Which among the following World
Heritage site of India is owned by two
states?

(a) Valley of Flowers National Park

(b) Mountain Railways of India

(c) Sundarbans National Park

(d) Kalka-Shimla Railway

Q169.At which among the following
places first governmental meeting on tiger
conservation was held in 2009?

(a) Kua Lalumpur (b) Katmandu
(c) Colombo (d)-Bangkok
Q170.Birdie and Eagle are two_terms
related to which of the following sports?
(a) Polo (b) Golf

(c) Chess (d) Billiards
Q171.With Which of the following sports
M Vijayakrishna Memorial Cup is related
to?

(a) Badminton

(b) Table Tennis

(c) Horse Races

(d) Polo

Q172.In which country, the first
Paraolympic Games was held?

(a) France

(b) United Kingdom

(c) Finland

(d) Russia

Q173.Zojila pass, which was seen in the
news recently, is located in which state/
uT?

(a) Sikkim

(b) Ladakh

(c) Arunachal Pradesh

(d) West Bengal
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Q174.India recently gifted 200 vehicles to
which government for logistical support in
conducting general elections?

(a) Sri Lanka (b) Nepal

(c) Bangladesh (d) Myanmar
Q175.Which bank has conducted ‘India’s
First Floating Financial Literacy Camp’?
(a) State Bank of India

(b) India Post Payments Bank

(c) HDFC Bank

(d) AU Small Finance Bank
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General Management Q. 176 to 200

Q176. Mr. ‘X’ is a marketing manager of

TCS. He is....

(a) First level manager

(b) Middle level manager

(c) Top level manager

(d) None of the above

Q177. Who among the following has

propounded Scientific Management

theory?

(@) Gullick and Urick  (b) F.W. Taylor

(c) Elton Mayo (d) Peter Drucker

Q178. Which of the following is a

structured review of the systems and

procedures of an organisation in order to

evaluate whether they are being conducted

efficiently and effectively ?

(a) Financial audit

(b) Safety audit

(c) Management audit

(d) Cost audit

Q179.1dentify which'is not a moedern

techniques of controlling. . ..

(a) Return on investment

(b) Ratio analysis

(c) Management audit

(d) Breakeven Analysis

Q180. Corporate social responsibility

(CSR) means?

(a) Complications of social life

(b) Compliance of social and ecological
responsibilities of the companies or
organisations.

(c) Corporate life having social
responsibilities

(d) Corporate life having all social
responsibilities to be followed.

Q181. Horizontal channel of

communication takes place between ?

(a) Superior-Subordinate

(b) Subordinate-Superior

(c) Upper level

(d) Same level
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Q182. Which of the following is not a

feature of motivation ?

(@) It is a continuous process

(b) Reduces absenteeism

(c) Complex process

(d) Can be positive or negative

Q183. Auditing refers to.....

(a) Preparation and checking of accounts

(b) Examination of accounts of business
unit only

(c) Examination of accounts of
professional accountants

(d) Checking of vouchers

Q184. Auditing is a luxury for a.....

(a) Joint stock company

(b) Partnership firm

(c) Small shopkeeper

(d) Government company

Q185. A continuous audit is specially

needed for...

(a) Any trading concerns

(b) Smaller concerns

(c) Banking companies

(d) Any manufacturing companies

Q186. Grouping the activities on the basis

of the product line is a part of

(a) Formal organisation

(b) Divisional structure

(c) Informal organisation

(d) Functional Structure

Q187. The form of organisation known for

giving rise to rumours is called

(a) Decentralised organisation

(b) Formal organisation

(c) Centralised organisation

(d) Informal organisation

Q188. Name the type of organisation that

is deliberately designed by top

management to achieve a common

organisational objective.

(a) Corporate organisation

(b) Divisional organisation

(c) Formal organisation

(d) Informal organisation
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Q189. Decision-making authority can be
pushed down to a lower level and this is
related to

(a) Centralisation

(b) Delegation

(c) Decentralisation

(d) None of the options are correct
Q190. For fast communication and to get
correct feedback, the following
organisation is suitable for

(a) Functional Structure

(b) Informal Organisation

(c) Divisional Structure

Formal Organisation

Q191. Needs, setting standards and
maintaining discipline, and appointing sub-
leaders according to Adair’s approach,
called as:

(a)Work functions

(b)Task functions

(c)Individual functions

(d)Team functions

Q192. The Ohio State Leadership Studies °

revealed and Initiating
structure as two major dimensions:of
leadership behaviour:

(a) Control (b)Communication
(c) Collaboration  (d)Consideration
Q193. Identify the four main styles of
leadership displayed by the manager which
identified in Tannenbaum and Schmidt’s
continuum of possible leadership
behaviour:

(@)Tells, help, joins and leads
(b)Commands, sells, consults and resists
(c)Tells, sells, consults and joins
(d)Commands, help, joins and leads
Q194. Packaging is the process of
designing & producing the container or
wrapper for a product.

(@) True

(b) False

(c) Not always

(d) Can’t say
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Q195. If the consumer is purchasing a
product on the basis of shop/retailers’
attributes. It is considered as:

(a) Product buying motive

(b) Patronage motives

(c) Bothe of them

(d) None of them

Q196. Legal authorization by the
trademarked brand owner to allow another
company to use its brand for a fee.

(a) Co-branding (b) Brand
association

(c) Brand licensing  (d) Private brand
Q197. The FMCG sector is an example of-
(a) Monopoly (b) Oligopoly

(c) Monopolistic  (d) Perfect

Q198. Data Mining is the process of:
(a) Collecting data

(b) Searching to identify the meaningful
pattern

(c) To arrange the data

(d) All of the above

Q199. Packaging 1s the process of
designing & producing the container or
wrapper for a product.

(@) True

(b) False

(c) Not always

(d) Can’t say

Q200. Who is known as 'Fatherof
administrative management'?

(@) FW Taylor

(b) Henry Fayol

(c) Max Weber

(d) Peter Druker
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